89Kr36       +   e-   =   89Br35       +   e   

 p36n53e-36   .   e-      =     p35n54e-    .    e-   
(p        e)  .   e-    =   (    n     )    .   e-   

……………………………………………………………………………………………….

Štěpení uranu 235

235U92        +     n    =   144La57      +      89Br35         +  3n

p92n143e –92  .     n    =   p57n87e –57  .       p35n54e – 35  .     n3
                  n3          =                   n3                                               

************************************************************************.

U 235  +  n  =    Kr 92 +  Ba 141  +  3n

…ale ne všechny absorpce neutronů skončí štěpením, při některých vznikne uran-236.


[image: image1.png]1235 141
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    n  +     235U92          =     141Ba56      +       92Kr36     +  3n

    n1  .  p92n143e –92      =   p56n85e –56   .     p36n56e – 36  .     n3
                            p92  =   p92
                            n144 =   n144
                            e– 92 =  e– 92
……………………………………………………………………………………………..

baryum

https://cs.wikipedia.org/wiki/Izotopy_barya        od 112 do 153

153Ba56     až     112Ba56

krypton

https://cs.wikipedia.org/wiki/Izotopy_kryptonu   od 69   do 101

  101Kr36        až          69Kr36          

………………………………………………………………………………………………
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   p        +       p     =     J/
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